Proportional Reasoning: Book Two, Levels 3+—4

Fully Grown

You need Z a calculator
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David found this chart in an old book at his grandmother’s place. She told him that parents
used to use it to work out how tall their children were likely to be when fully grown.

David measured his 2-year-old sister, Davina, and found that she was 99 centimetres tall.
He used the chart to work out that she was likely to be about 180 centimetres tall when
fully grown.
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So 21—0 of her height must be
99 + 11 =9 centimetres ...
that means her likely height

will be 20 times this.

That's 20 x 9 = 180 centimetres.
She’s going to grow quite tall!

David is 10 years old and 144 centimetres tall.
According to the chart, how tall is he likely to be as an adult?

According to the chart, how tall would David have been as a 2-year-old?

According to the chart, how tall is David likely to be as a 12-year-old, 14-year-old,
and 16-year-old?
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David’s twin sister, Angie, uses the chart to discover that as an adult, she is likely to be
2 centimetres shorter than her brother. What is the height difference likely to be now?

Finding percentages of lengths 9
and lengths from percentages





